Bi-lateral Monopoly 

When both parties, the buyers and the sellers, have market power.
A monopsonist is when there is one buyer of a product. Where there are only a few buyers it is called an oligopsonist (or joint monopsony). 

Examples of bilateral monopolies include:

· Labor unions and large manufacturing corporations (especially in one-company towns)

· Professional athletic unions (eg, the MLBPA) and professional sports leagues

· Teachers unions and public school districts

· Typecast lead actors/actresses and the production/copyright owners of their primary franchise (see Daniel Radcliffe / Harry Potter)

· Highly specialized scientists and their employers (big pharma and quantitative finance are two major examples where it's very hard for the employee to find alternative demand for their particular skills, and very hard for the employer to find alternative supply for those positions).

· Manufacturing companies and specialized subcontractors (for example, GM vs. some of the component manufacturers that go into their cars).

· Governments and certain classes of defense contractors
· Doctors and hospitals (insurance companies)
· Marriage

Monopsonist

How does a monopsonist face the labor market?

http://www.fastcompany.com/47593/wal-mart-you-dont-know
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The demand for labor is derived from the production function, specifically the area known as the “zone of production.”
The supply curve represents a market where the single firm or colluding companies are the sole hirers of workers. As each additional worker is hired the company pays a higher salary for the existing workers as well as the new employees.  In other words, when worker 2 is hired at a given wage rate, worker 1 receives the same pay. 

The firm has the power of being the only (one of the few) demanders of this particular type of labor. Professional athletes face monopsony power, HMOs face monopsony power, and nurses face monopsony power.

The firm pays a wage where the marginal wage cost of hiring an additional worker is equal to the marginal revenue product the worker adds to the firm. This is the point where MWC intersects MRP. The wage rate at “wm” number of employees is “a”. Wm is lower than the market wage rate. There are less people willing to supply their labor services than there would be in a perfectly competitive market. 

The monopsonist has a greater demand for labor than they are hiring, but they don’t want to increase the wages. If they increase wages for one employee they must increase them for them all. 

How does this relate to the health care market?

In the health care market the demander has market power. Who is the demander of health services? Answer… the insurance company. The employer is the customer (buyer) but they do not directly buy health care they go through insurance companies. 

When the buyer has power the seller works to accommodate the buyer. For example, if Wal-Mart purchases towels from Springs Industry, Wal-Mart determines the price they want to pay based on the graph above. The seller, who accepts the lower price, is in a tough situation. They want the business but they may not make a lot of profit on the deal. Springs ends up paying their employees less money, possibly moving their operations overseas. The workers supply their labor for below market wages, wm. 
At what point does the worker decide to retract their labor services?

How can this model apply to the health care industry?

You might witness a constant search for workers, or a labor shortage.
Nurses and special-education teachers may fall into this category.

Monopoly

http://www.youtube.com/watch?v=AffVdtkZCNw
http://www.youtube.com/watch?v=U6vrteO-6xw&feature=relmfu
Unions form a labor market monopoly on the side of labor.
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Unions collectively bargain for a wage wu that is above the market wage of wc. 

The number of workers hired is less than the market clearing level of Lc.

This too is inefficient.

 Unions Effect on Wages

1. Unions attempt to increase the demand for their products by lobbying, supporting a democratic candidate that is pro US, pro labor or against trade. They vote in blocks.

2. Unions claim that they are worth the higher wages because they increase productivity.
3. The Davis Bacon Act states that federally financed projects must pay “prevailing wages” to contractors. If unions get the contract they win, if they don’t get the contract they win, because when market wages rise unions are better able to compete.

4. Unions decrease the supply of labor by supporting limited immigration, child labor laws, compulsory retirement and shorter workweeks. 

5. Influencing nonwage income such as health benefits.

Unions bargain for wages collectively. 

What happens when the monopsony and the monopoly face each other?

Bilateral Monopoly
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NFL Strike
Chicago Teachers Union Strike
http://www.suntimes.com/news/metro/13735263-418/chicago-teachers-best-paid-or-not-depending-who-you-ask.html
Health care applications:
Why is the health market inefficient?

Lack of information – third party payer
Product differentiation – all services are not equal


Demand curve for some doctors are steeper

On the supply side, supply must shift left if a company wants to obtain a competitive edge. For example, a pharmaceutical company must hire the best researchers to produce the best drugs.
Adverse Selection

Fraud

How does the employer or insurance company (buyer, monopsonist) negotiate with the doctor or hospital (seller, monopolist)?

The health care industry has a few buyers (oligopsonists) and few sellers per market (oligopolists). The market is a bilateral oligopoly.
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